TAIWANESE JOURNAL OF MATHEMATICS Vol. 15, No. 4, pp. 1629-1636, August 2011 This paper is available online at http://www.tjm.nsysu.edu.tw/

HEAT KERNELS FOR DIFFERENTIAL OPERATORS WITH RADICAL FUNCTION COEFFICIENTS

Ovidiu Calin and Der-Chen Chang

Dedicated to Professor Stere Ianus on the occasion of his seventieth birthday

Abstract. The first part of the paper deals with finding the heat kernel by probabilistic methods for the 1-dimensional elliptic differential operator $\frac{1}{2}(1+x^2)\frac{d^2}{dx^2} + (\sqrt{1+x^2}+\frac{x}{2})\frac{d}{dx}$. In the second part we apply the same method to the 2-dimensional operator $\frac{1}{2}\left(\frac{\partial^2}{\partial x_1^2} + 2\sqrt{1+x_2^2}\frac{\partial^2}{\partial x_1\partial x_2} + (1+x_2^2)\frac{\partial^2}{\partial x_2^2}\right) + \frac{1}{2}x_2\partial_{x_2}$ and provide explicit formulas for its heat kernel.

1. INTRODUCTION

The use of probabilistic methods to find heat kernels for second order differential operators was initiated by Kolmogorov [6] in early 1930s, who investigated the heat kernel for the following degenerated operator on \mathbb{R}^2

$$\partial_x^2 - x \partial_y$$
.

In late 1970s Hulanicki [5] and Gaveau [4] used probabilistic methods and Brownian motion to determine the heat kernel for the Heisenberg-Laplacian, i.e. the subelliptic operator on \mathbb{R}^3 given by

$$\frac{1}{2}(\partial_x - 2y\partial_z)^2 + \frac{1}{2}(\partial_y - 2z\partial_z)^2.$$

The first part of the present paper deals with the heat kernel $\mathcal{K}(x_0, x; t)$ of the 1-dimensional elliptic operator

(1.1)
$$L = \frac{1}{2}(1+x^2)\frac{d^2}{dx^2} + \left(\sqrt{1+x^2} + \frac{x}{2}\right)\frac{d}{dx},$$

Received March 30, 2010, accepted April 2, 2010.

Communicated by J. C. Yao.

2000 Mathematics Subject Classification: Primary 35K05; Secondary 60G05.

Key words and phrases: Ito diffusion, Stochastic process, Heat kernel, Transition density.

This work was completed with partial support from the NSF Grant #0631541, and also partially supported by the Hong-Kong RGC grant #600607 and a competitive research grant at Georgetown University.

i.e., finding the solution of

$$\partial_t \mathcal{K} = L\mathcal{K}, \quad t > 0, x \in \mathbb{R},$$
$$\lim_{t \to 0} \mathcal{K}(x, x_0; t) = \delta_{x_0}(x),$$

where δ_{x_0} stands for the Dirac distribution centered at x_0 .

There are quite a few methods for computing heat kernels that can be found in the literature, sometimes several of them being applicable to the same operator. However, for the operator (1.1) most of the methods do not yield immediate results. The radical coefficients make the method of path integrals difficult to apply. Other methods like Van Vleck's formula of Feynman-Kac's formula are also not applicable for this operator. The Fourier transform method cannot be successfully applied because of the nonconstant coefficients. The "geometric method" discussed for instance in [3], chap.10, is not feasible here since the associated bicharacteristics system is nonlinear and hard to solve here and the associated action is difficult to produce. The interesting feature of the operator (1.1) is that it represents an example where the probabilistic method is the most appropriate.

The probabilistic method associates a stochastic differential equation (SDE) with the aforementioned operator. The next step is to show that the SDE has a unique solution, given an initial condition, and to solve the SDE explicitly. Then one needs to find the probability density function of the solution stochastic process. This will provide us with the deserved heat kernel. It is worth to note that in this case all the above steps can be done with no much difficulty. The main results of this paper are given below.

Theorem 1.1. The heat kernel of the operator (1.1) is given by

(1.2)
$$K(x_0, x; t) = \frac{1}{\sqrt{2\pi t}} \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} e^{-\frac{1}{2t} \ln^2 \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} - \frac{t}{2}}, \qquad t > 0.$$

Theorem 1.2. The heat kernel of the operator

$$A = \frac{1}{2} \left(\frac{\partial^2}{\partial x_1^2} + 2\sqrt{1 + x_2^2} \frac{\partial^2}{\partial x_1 \partial x_2} + (1 + x_2^2) \frac{\partial^2}{\partial x_2^2} \right) + \frac{1}{2} x_2 \partial_{x_2}$$

is equal to

$$K(x_0, x; t) = \frac{1}{2\pi t} \frac{1}{\sqrt{1+x_2^2}} \left[\frac{x_2 + \sqrt{1+x_2^2}}{x_2^0 + \sqrt{1+(x_2^0)^2}} \right]^{\frac{x_1 - x_1^0}{t}} e^{-\frac{1}{2t}(x_1 - x_1^0)^2 - \frac{1}{t} \left(\sinh^{-1}(x_2) - \sinh^{-1}(x_2^0)\right)^2},$$

with t > 0, where $x = (x_1, x_2)$, $x_0 = (x_1^0, x_2^0)$.

1630

2. The Proof of Theorem 1.1

Consider the following time-homogeneous Ito diffusion equation

(2.1)
$$dX_t = \left(\sqrt{1 + X_t^2} + \frac{1}{2}X_t\right)dt + \sqrt{1 + X_t^2}\,dW_t, \qquad X_0 = x_0,$$

where W_t denotes the Brownian motion starting at $W_0 = 0$. In order to show the existence and uniqueness of a stochastic process $(X_t)_{t\geq 0}$ satisfying the equation with $X_0 = x_0$, we shall use the following result (see Theorem 5.2.1 and Definition 7.1.1. of [8]):

Theorem 2.1. If the time-homogeneous Ito diffusion

$$dX_t = b(X_t)dt + \sigma(X_t)dW_t, \qquad X_0 = x_0$$

satisfies the Lipschitz condition

$$|b(x) - b(y)| + |\sigma(x) - \sigma(y)| \le D|x - y|, \qquad \forall x, y \in \mathbb{R},$$

then there is a unique solution $(X_t)_{t\geq 0}$ with $X_0 = x_0$.

In our case the drift and diffusion coefficients are given by $b(x) = \sqrt{1 + x^2} + \frac{1}{2}x$, and $\sigma(x) = \sqrt{1 + x^2}$. Since

$$\begin{aligned} \frac{|x+y|}{\sqrt{1+x^2}+\sqrt{1+y^2}} &\leq \frac{|x|}{\sqrt{1+x^2}+\sqrt{1+y^2}} + \frac{|y|}{\sqrt{1+x^2}+\sqrt{1+y^2}} \\ &< \frac{|x|}{\sqrt{1+x^2}} + \frac{|y|}{\sqrt{1+x^2}} < 2, \end{aligned}$$

then the next estimation holds

$$\begin{aligned} |\sigma(x) - \sigma(y)| &= |\sqrt{1 + x^2} - \sqrt{1 + y^2}| = \frac{|x^2 - y^2|}{\sqrt{1 + x^2} + \sqrt{1 + y^2}} \\ &= \frac{|x + y|}{\sqrt{1 + x^2} + \sqrt{1 + y^2}} \cdot |x - y| < 2|x - y|, \end{aligned}$$

and then

$$\begin{aligned} |b(x) - b(y)| &\leq |\sqrt{1 + x^2} - \sqrt{1 + y^2}| + \frac{1}{2}|x - y| \\ &< 2|x - y| + \frac{1}{2}|x - y| = \frac{5}{2}|x - y|. \end{aligned}$$

Using the previous estimations we obtain the Lipschitz condition with D = 9/2

$$|b(x) - b(y)| + |\sigma(x) - \sigma(y)| \le \frac{9}{2}|x - y|, \qquad \forall x, y \in \mathbb{R}.$$

By Theorem 2.1, there is a unique solution X_t for the SDE (2.1). In order to find the solution X_t , invoking the uniqueness, it suffices to guess a solution. We shall construct in the following the solution explicitly.

Consider the process $U_t = c + t + W_t$, with W_t Brownian motion and constant $c = \sinh^{-1}(x_0)$ and construct the process $X_t = \sinh(U_t)$. It is easy to verify that $X_0 = x_0$. Applying Ito's formula we obtain

$$dX_{t} = \cosh(U_{t}) dU_{t} + \frac{1}{2} \sinh U_{t} (dU_{t})^{2}$$

= $\cosh(U_{t}) (dt + dW_{t}) + \frac{1}{2} \sinh(U_{t}) dt$
= $\left(\cosh(U_{t}) + \frac{1}{2} \sinh(U_{t})\right) dt + \cosh(U_{t}) dW_{t}$
= $\left(\sqrt{1 + \sinh^{2}(U_{t})} + \frac{1}{2} \sinh(U_{t})\right) dt + \sqrt{1 + \sinh^{2}(U_{t})} dW_{t}$
= $\left(\sqrt{1 + X_{t}^{2}} + \frac{1}{2}X_{t}\right) dt + \sqrt{1 + X_{t}^{2}} dW_{t}.$

Hence

(2.2)
$$X_t = \sinh(c + t + W_t), \quad c = \sinh^{-1}(x_0)$$

is the solution of the equation (2.1).

The generator of the aforementioned process X_t is the second partial differential operator A defined by

$$Af(x) = \lim_{t \searrow 0} \frac{E^x[f(X_t)] - f(x)}{t}, \qquad f \in C_0^2(\mathbb{R}),$$

where E^x is the conditional expectation operator, given $X_0 = x$, see [8], p.121. Using standard properties of generators, we obtain that

$$A = \frac{1}{2}\sigma^2(x)\frac{d^2}{dx^2} + b(x)\frac{d}{dx} = L,$$

with L given by (1.1). In order to find the transition density of X_t , which is the heat kernel of L, one needs to compute first the the conditional distribution function of X_t

$$\begin{aligned} F_{X|X_0}(x \mid x_0) &= P(X_t \le x \mid X_0 = x_0) = P(\sinh(U_t) \le x \mid U_0 = \sinh^{-1} x_0) \\ &= P(c + t + W_t \le \sinh^{-1} x \mid c = \sinh^{-1} x_0) \\ &= P(W_t \le \sinh^{-1} x - c - t \mid c = \sinh^{-1} x_0) \\ &= P(W_t \le \sinh^{-1} x - \sinh^{-1} x_0 - t) \\ &= \int_{-\infty}^{\sinh^{-1} x - \sinh^{-1} x_0 - t} \frac{1}{\sqrt{2\pi t}} e^{-\frac{u^2}{2t}} du, \end{aligned}$$

so the transition density of X_t is

Heat Kernels for Differential Operators with Radical Function Coefficients 1633

(2.3)
$$p_t(x_0, x) = \frac{d}{dx} F_{X|X_0}(x|x_0) = \frac{1}{\sqrt{2\pi t}} e^{-\frac{(\sinh^{-1}x - \sinh^{-1}x_0 - t)^2}{2t}}, \quad t > 0.$$

Fig. 1. The transition density as a function of x, with $x_0 = 0$ in the cases: t = 1, t = 0.5 and t = 0.25. For t small the graph tends to the Dirac distribution centered at $x_0 = 0$.

Elementary algebraic computations show that

$$\sinh^{-1} x - \sinh^{-1} x_0 = \ln \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}},$$
$$(\sinh^{-1} x - \sinh^{-1} x_0 - t)^2 = \ln^2 \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} - 2t \ln \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} + t^2.$$

Substituting in (2.3) yields the transition density

(2.4)
$$p_t(x_0, x) = \frac{1}{\sqrt{2\pi t}} \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} e^{-\frac{1}{2t} \ln^2 \frac{x + \sqrt{1 + x^2}}{x_0 + \sqrt{1 + x_0^2}} - \frac{t}{2}}, \quad t > 0.$$

Standard properties of stochastic processes state that (2.4) is the heat kernel of the operator (1.1). The proof of Theorem 2.4 is thus finished. The density function is represented in Fig. 1 for $x_0 = 0$ at the instances t = 1, t = 0.5 and t = 0.25. The distribution is skewed and has fatter tails to the right. This means that more heat propagates from x_0 to the right rather than to the left.

3. The Proof of Theorem 1.2

Let $W_1(t)$ and $W_2(t)$ be two independent Brownian motions starting at 0, and consider the following system of SDE in the matrix form

Ovidiu Calin and Der-Chen Chang

(3.1)
$$\begin{pmatrix} dX_1(t) \\ dX_2(t) \end{pmatrix} = \begin{pmatrix} 0 \\ \frac{1}{2}X_2(t) \end{pmatrix} dt + \begin{pmatrix} 1 & 1 \\ 0 & \sqrt{1+X_2(t)^2} \end{pmatrix} \begin{pmatrix} dW_1(t) \\ dW_2(t) \end{pmatrix},$$

with the coefficients

$$b(x) = \begin{pmatrix} 0\\ \frac{1}{2}x_2 \end{pmatrix}, \quad \sigma = \begin{pmatrix} 1 & 1\\ 0 & \sqrt{1+x_2^2} \end{pmatrix}, \quad \sigma\sigma^T = \begin{pmatrix} 1 & \sqrt{1+x_2^2}\\ \sqrt{1+x_2^2} & 1+x_2^2 \end{pmatrix}.$$

Since we have the estimations

$$\begin{aligned} |b(x) - b(y)| + |\sigma(x) - \sigma(y)| &\leq \frac{1}{2}|x_2 - y_2| + \left|\sqrt{1 + x_2^2} - \sqrt{1 + y_2^2} \right| \\ &\leq \frac{5}{2}|x_2 - y_2| \leq \frac{5}{2}|x - y|, \end{aligned}$$

where $|\sigma|^2 = \sum |\sigma_{ij}|^2$, the Lipschitz condition holds, and hence there is a unique process X_t which satisfies the SDE system (3.1) starting at $X_0 = x_0 = (x_1^0, x_2^0)$, for any given point $x_0 \in \mathbb{R}^2$.

In order to find the solution, invoking the uniqueness, it suffices to construct a solution. Consider the 2-dimensional stochastic process $X_t = (X_1(t), X_2(t))$ defined by

$$X_1(t) = W_1(t) + W_2(t) + x_1^0$$

$$X_2(t) = \sinh \left(W_2(t) + c \right), \quad c = \sinh^{-1}(x_2^0)$$

It is easy to check that the process starts at $X_0 = (x_1^0, x_2^0) = x_0$ and satisfies the following stochastic differential system of equations

$$dX_1(t) = dW_1(t) + dW_2(t)$$

$$dX_2(t) = \cosh(W_2(t) + c) dW_2(t) + \frac{1}{2}X_2(t) dt$$

$$= \sqrt{1 + X_2(t)^2} dW_2(t) + \frac{1}{2}X_2(t) dt.$$

Standard results of stochastic processes yield the following generator for X_t

$$A = \frac{1}{2} \sum_{i,j} (\sigma \sigma^T)_{ij} \frac{\partial^2}{\partial x_i \partial x_j} + \sum_j b_j(x) \frac{\partial}{\partial x_j}$$

$$= \frac{1}{2} \left(\begin{array}{cc} 1 & \sqrt{1+x_2^2} \\ \sqrt{1+x_2^2} & 1+x_2^2 \end{array} \right) \frac{\partial^2}{\partial x_i \partial x_j} + \begin{pmatrix} 0 \\ \frac{1}{2}x_2 \end{pmatrix} \cdot (\partial_{x_1}, \partial_{x_2})$$

$$= \frac{1}{2} \left(\frac{\partial^2}{\partial x_1^2} + 2\sqrt{1+x_2^2} \frac{\partial^2}{\partial x_1 \partial x_2} + (1+x_2^2) \frac{\partial^2}{\partial x_2^2} \right) + \frac{1}{2} x_2 \partial_{x_2}.$$

The heat kernel for the aforementioned operator A is given by the transition density of the process $X_t = (X_1(t), X_2(t))$, which will be obtained in terms of the transition density of the 2-dimensional Brownian motion $(W_1(t), W_2(t))$.

1634

The transformation

$$x_1 = u_1 + u_2 + x_1^0$$

 $x_2 = \sinh(u_2 + c), \quad c = \sinh^{-1}(x_2^0)$

has the inverse

(3.2)
$$u_1 = (x_1 - x_1^0) - \left(\sinh^{-1}(x_2) - \sinh^{-1}(x_2^0)\right)$$

(3.3)
$$u_2 = \sinh^{-1}(x_2) - \sinh^{-1}(x_2^0),$$

with the nonsingular Jacobian

$$\det \frac{\partial(u_1, u_2)}{\partial(x_1, x_2)} = \frac{1}{\sqrt{1 + x_2^2}} \neq 0.$$

Standard results of transformations of distributions (see for instance [7], p.111) yield the density function of X_t

(3.4)

$$p_{t}(x_{0}, x) = f_{X|X_{0}}(x|x_{0}) = f_{W_{1},W_{2}}(u_{1}(x_{0}, x), u_{2}(x_{0}, x)) \det \frac{\partial(u_{1}, u_{2})}{\partial(x_{1}, x_{2})}$$

$$= f_{W_{1}}(u_{1}(x_{0}, x)) f_{W_{2}}(u_{2}(x_{0}, x)) \det \frac{\partial(u_{1}, u_{2})}{\partial(x_{1}, x_{2})}$$

$$= \frac{1}{\sqrt{2\pi t}}e^{-\frac{u_{1}^{2}}{2t}}\frac{1}{\sqrt{2\pi t}}e^{-\frac{u_{2}^{2}}{2t}}\frac{1}{\sqrt{1+x_{2}^{2}}} = \frac{1}{2\pi t}\frac{1}{\sqrt{1+x_{2}^{2}}}e^{-\frac{|u|^{2}}{2t}},$$

with u given by (3.2) - (3.3). A computation provides

$$|u|^{2} = u_{1}^{2} + u_{2}^{2}$$

= $(x_{1} - x_{1}^{0})^{2} - 2(x_{1} - x_{1}^{0})(\sinh^{-1}(x_{2}) - \sinh^{-1}(x_{2}^{0}))$
+ $2(\sinh^{-1}(x_{2}) - \sinh^{-1}(x_{2}^{0}))^{2}$
= $(x_{1} - x_{1}^{0})^{2} - 2(x_{1} - x_{1}^{0})\ln\frac{x_{2} + \sqrt{1 + x_{2}^{2}}}{x_{2}^{0} + \sqrt{1 + (x_{2}^{0})^{2}}} + 2(\sinh^{-1}(x_{2}) - \sinh^{-1}(x_{2}^{0}))^{2}$

and hence

$$e^{-\frac{|u|^2}{2t}} = \left[\frac{x_2 + \sqrt{1+x_2^2}}{x_2^0 + \sqrt{1+(x_2^0)^2}}\right]^{\frac{x_1 - x_1^0}{t}} e^{-\frac{1}{2t}(x_1 - x_1^0)^2 - \frac{1}{t}\left(\sinh^{-1}(x_2) - \sinh^{-1}(x_2^0)\right)^2}.$$

Substituting in (3.4) leads to the desired result.

References

1. R. Beals, B. Gaveau and P. C. Greiner, On a geometric formula for the fundamental solution of subelliptic Laplacians, *Math. Nachr.*, **181** (1996), 81-163.

Ovidiu Calin and Der-Chen Chang

- 2. R. Beals, B. Gaveau and P. C. Greiner, Hamilton-Jacobi theory and the heat kernel on Heisenberg groups, J. Math. Pures Appl., **79** (7) (2000), 633-689.
- 3. O. Calin and D. C. Chang, *Geometric Mechanics on Riemannian Manifolds: Applications to Partial Differential Equations*, Applied and Numerical Analysis. Birhäuser, Boston, 2004.
- B. Gaveau, Systèmes Dynamiques Associés a Certains Opérateurs Hypoelliptiques, Bull. Sc. Math., 102, (1978), 203-229.
- 5. A. Hulanicki, The distribution of energy in the Brownian motion in the Gausssian field and analytic hypoellipticity of certain subelliptic operators on the Heisenberg group, *Studia Mathematica*, **56** (1976), 165-173.
- 6. A. N. Kolmogorov, Uber die analytischen Methoden in der Wahrscheinlichkeitsrechnung, *Math. Ann.*, **104**, (1931), 415-458
- 7. B. W. Lindgren, *Statistical Theory*, The Macmillan Company, New York, London, 1962.
- 8. B. Øksendal, *Stochastic Differential Equations*, An Introduction with Applications, 6th ed., Springer-Verlag Berlin Heidelberg New-York, 2003.

Ovidiu Calin Department of Mathematics Eastern Michigan University Ypsilanti, MI 48197 U.S.A. E-mail: ocalin@emich.edu

Der-Chen Chang Department of Mathematics Georgetown University Washington, DC 20057 U.S.A. E-mail: chang@georgetown.edu